IR

1098 &R AL (GEERR) $2 507 8
L 423 AR (F g 4) Fp Ak | EL47
KT E AL 9,100 1,300
FohmLiE s (1038 EARu T8 FEHE) 10, 500 1,300
) ﬁ'li%.‘a;%..g [103 @4 : 104 4] 9,100 1,300
BAKTE L FET ek 10, 500 1, 300
rd U S E PSS 9,100 1,300
Frpte (18 FHF{ L] 9,100 1, 300
%A%k T 8 AL 9,100 1, 300
BY AR HRTE e KSRl 9,100 1,300
fr, |[CReHpE min 9,100 1, 300
;z'sz (7 P g 7 TR~ B BT 9,100 1,300
JEFEMLF =g (102 %4] 9,100 1, 300
2 RE~ & 545 9,100 1,300
EEHEALS -8 9,100 1,300
< EFERE AL 9,100 1,300
g e Ies kRl 5T 9,100 1,300
’ﬁ MEEY AR KEMLE =8 [103 242) 9,100 1, 300
e AETELLEIRE oL TS [103 3734 ] 9,100 1,300
S L B 10, 500 1,300
§ AR E S AR LT 10, 500 1,300
N Hpmap AL g =84 [103 4] 10, 500 1,300
f Hie® a4 r [102 3 ) 10, 282 1,340
Bt P ELE kR HEALr [108 { %) 10, 500 1,300
£ LR BRBRTAFTRE ARBEKTEFTRMAL 10, 500 1, 300
BF BT e RS KT ML [108 1 %] 10, 500 1,300
5 T & i 10, 282 1, 340
3 FafE AL 10, 500 1,300
rFVMLE =84 [103 2] 10, 500 1, 300
FHE RV T AR LT 10, 282 1, 340
S e R 10, 282 1, 340
- ‘%szzzmﬁ* SRR L 3T 10, 282 1,340
? B EH 40P § R LA 10,282 | 1,340
5 mﬂﬁﬁv?wa‘fﬂ LT 10, 282 1,340
P, [EF A4S ol [103 ¢ 7] 10, 282 1, 340
b aE eE AP RT RIS =84 [103 ¢ ¢ ] 10, 282 1,340




B (EAEE¥EE 10, 282 1,340
%;g.'_ BAEREE L 10, 282 1,340
53)‘;{, R AL 3 10, 282 1,340
FRL
T ERFALFERIZEG T (FFEFLET L) -
S FEAEEYT B ER A (ZHREL) 2 BN (RERYTE A I
N)’%@@%¢%%(1f§¢>ﬁ’m%ﬁiﬁﬁﬁgﬁ,mzkﬁgao
2T L deip 0 F A PR 1 P 0
o AL A 18 FERY | FHA P AT
(—)?—Lfr—iwﬁ:@\i DR EF AN RIEDTRAI AR DGERF 2 T L
-
P
(Z)ELsrygig Loz WA HEFLIN- TBEP (2 FHIRTIETEREGR o
(Z) B ~mALsi MR HF A gy Ak &k (97) i?‘éﬁk\ﬂﬁ;“fl} 4 ("
W) 2B (P HAFIEAY AP EE) 2 T ahp SHR LR
P AE () NP EFRFERGF AR TIREFRAN LI

Iy

%aKT &
kAL E L FE L 850 ~ o

Y o} g o

"

S KT ?ﬁiﬁfw\‘”’ :
(-)WEART FREFFRFFL L0 F (103 F# Rde) > 2 # 2K
A BB E FIEE :ﬁ%ﬁ’ﬁ*«‘ PaE(109 F# R4 2B Y 5T F RN
WE LR "errﬁm IR SR SR Sy

M

= 5 APREE T L FRBIFLG Y MUTRR L KT ?ﬁipﬁ:ﬁiﬁ Yoy B e g A

¥R AREKT ?ﬁiﬁpé&rﬁ’%\ ,aEW'p* 2 WRAAMATY FEAKL
A~ AR ﬂm;w g r_fl(éﬁﬁ_)pw’u?# FA R ARE S AT SR 13,500 & 0 AL fT
Fa2-orwul FHhpicd (§ §~£@%ﬁﬁ% (%B) wHEA ik L
g‘f/f;w»uv;}ﬂg.;{ r'Fikéﬂa \ﬁr,fig—{v;.g_#%; BirhzE () gﬂ:ﬁﬁ, ‘1(? ﬁ:_gJ
ya_;;gv‘) 013_1;1 a;} Hz rPéF‘ 175007“,1:«1954;: 4z Fm b {%;gpggv]scho
r103%‘fﬁf§:(z)t%§ ?*i*
= N FEE AL TIR b R 9900£:%IJ@4500;W
%%ﬁmﬁJﬂﬁ%FW)Eﬁii%éﬁﬁiF%?‘Wﬁﬁav?iﬁﬂﬁﬁﬁk
(*B) €3=F 702y > 40T
Vg o R e A Sr o 3z sk .
£kt (8) £7% 1 AR Y Fi
—%;\:—:
Erbz (8) -3 = = =
sy #E - HER 9000 13500 22500
E e R
g
Birms (v8) §- 5 9000 ~ 13500 ~ 22500 ~
lfh”/\?—‘f;‘u&rvik
= Nz
T Lk ~
% (B) - % 9000 ~*2 5 18000
A BRI EIE S AR L IR B WAL LI E el £
Rt AR L S -




